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We do not give to a poor man who is traveling from place to place,
less than a loaf of bread worth a 117113, etc.

OVERVIEW

The X713 cites a mwn which states that for an "1y who travels from place to place,
he is to be given (in every place) a loaf of bread worth a 17719 (when wheat is
being sold at four R0 for a ¥50). Moo discusses the size of the 105 and why it is
necessary to give ‘this much’.

— 15330y NYNI 179 NYT DY AYY N9 9990
This loaf, which is worth a 11°71'9, amounts to a size of six eggs, for half goes to

the storekeeper, for his work and profit -
— (2,29 97 payy) zvsm\wn 989D P92 RINTI MTIYO NV NI NI

And this 12> (the size of six 0°¥°2) is sufficient food for two meals, as we learnt
in a Nn=2 in PPENNRR TR PAD.

mooIn asks:
— YNPYN (ow x,mp 97 maw) 22N U3 PI92T PNYY 199297 DY

And the "1 has a difficulty; for in “an> %> P it seems -
— 111Na NNIYO RIINT MIN NINY

That it is usual that the poor man has a meal with him, while he is traveling -
— 99N JP292 INY DN 957 TN NNIYD 1Y XINYM DIN Y27 ONN NPT

For the X711 states there that when the "1V leaves the city we send along a meal

with him so that when he goes, he does not go empty-handed. This concludes the

citation from that X313 -
— DHNN ATIYOA I 2T HTIYO SNV 1T 1239 NNY 15 ON)

And if indeed it is so (that he receives an extra meal for the way), why do we give

him two meals; it is sufficient for him to receive just one meal -
— 133 1355092 PYIY 1D PINNY NTIYDI 791 HINY NN RIINT NIV NINN

' See 729m 11"7 >"wA. The price of wheat is four nXo for a ¥90. There are 48 1117119 in a ¥70. One X0 cost 12 P1r719
(48/4=12). There are 144 o¥°2 in a %0 (6 2°¥°2 in a M7, 4 P27 in a 2P, and 6 1°2p in a 7IXD; 6x4x6=144). One 17210
buys 12 o°¥°2 (144/12=12). However the merchant who sells the 7125 takes half for his labor and profit, resulting in
that one 723 for a 11711 is the equivalent of six 2°%°2 (12/2=6).

2 The m1wn there states regarding the 7¥*w for 11N 217 that - MTIWD "NW 717 1YW K17 713, and continues: 171" "
Y902 PRO T 1IN0 T20n M P2 120 We see that 1171192 1031 is MTWD "2 1A, [According to some a 77¥71 is
approximately two ounces.]
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The meal that accompanied him from the city which he left; he can eat
immediately (in the new city), and the meal which we give him now, that meal,
he will take along with him to the next city.’

MDOIN answers:
— 9992 M"NNN PPINN PRT PNYY 19229Y ININ

And it appears to the "' that sy2n is not distributed by night; only by day -
— 1903 XY 391 1913 1Y PHANY P91 1INRY *aY

Because (at night) we cannot distinguish to whom food from the “mnn was given
and to whom it was not given.

Mmoo proves that MmN is not distributed at night:
— N0 %2) X919 139917 W99 N HDIND 1D DM 1D MNP ¥RYUN 199

And so it seems, since the 71wn (cited here) states, ‘if the °1v sleeps over we give
him the necessities for sleeping’, and X955 27 explained that the necessities are a

bed and a cushion, this concludes the citation from the X723 -
—19 12359 PN 995 YaN

However we do not give him a loaf of bread (since it is at night) -
— "N 17993 IND DN 997 *9N1nY NNNY 192 NN YINOY MNP 7215 193 799
And so therefore it is understood that we give him two meals, that he should eat
one at night and one tomorrow so that he does not go away empty-handed -
—19 PRV Y 1502 N9 1Y YIY 31 N1ITINNT DD T NYY 130927 NIYL)
And the reason we require that he not leave empty-handed, is because we

cannot compare one has bread in his basket to one who does not have bread in
his basket, for if he has 1702 no -
— 75 Y5 2y RNY XD

He will not be so hungry when he travels to the next city.

? An v is entitled to receive two meals from the »ran (every day) and no more. Initially we understand that we give
this traveling *1v two meals; one he will eat now and the other at night (wherever he will be; either here or in the next
city). The next day he will receive his two meals from that city. However now that we know that he had an extra
meal when he came here, we should give him one meal (in the morning). He will eat the morning meal from his
previous 12> (which he received in the other city) and the other meal he will (take along with him and) eat (it) at
night when he arrives in the other city. If he intends to remain here overnight, then at night he will go to the "0
and will receive an additional meal (and he will still have a meal to accompany him).

* The n"27 N amends this to read, *>7 T22ws mab.

> We must always give him two mTwo since there is no "n»n at night. The 733 which he brought along will be his
morning meal, and the two mTvo which we give him from the *1n will be for the evening meal and for a meal to
20 (so he should have 1702 no).
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mooIn rejects an alternate explanation why we send along a meal with him:
— DI9NY 11219 XN DINNPN 12 ) KD XYW OYLNT Y9 PPN DaN

However we cannot explain that the reason we send along an extra meal is
because perhaps he will not reach by the next day a place among Jews, and he
will not have what to eat (so he will eat the meal-to-go) —

mooIn explains why he rejects this explanation:
— PITIYO YIY 17 111 15D 991D 13WN INT

For if we are concerned that he will not find a Jewish settlement, we should give
him three meals -

— SAYsha MNP PPINM PRY BINNN 12 $910U N 1IN XY NYrYa 0) %5
For even when he will eventually reach a Jewish settlement they will not give
him any food that night as well, for as n1901n just pointed out the "N is not
distributed by night.

mooIn anticipates a possible rebuttal and that indeed the concern is that he will not reach a
Jewish settlement (and that is why he receives a meal to go):
—Tm5nn 899957 1Y PN

And we cannot say that really the 1770 is distributed at night -
— SDomyn SNY DI1INN 192 P93 RY RNAY 11UHNT BINY 193 )
And the reason we give him two meals, is because we are concerned that he

will not reach a Jewish settlement two times (for the evening meal and the morning
meal) —

mooIn offers an alternate concern:’
— 1902 19 7 RNOY 27597 129 NIYWN) HNN DAY NIN 122WN XY 1) ON

Or you may also say; we are only concerned about his missing a meal once, and
the second meal is given in order that he should have Y292 n5; however the reason

® We need to give him three meals; one for the evening meal of today, the second for the morning meal tomorrow
and (since he may have not reached a Jewish settlement by morning when they distribute the »1nnn) a third meal for
tomorrow night. Since we give him only two meals that means we are not concerned that he will not reach a Jewish
settlement, and so the reason we give him a meal to go is that he should have 1702 ns.

7 So seemingly we should not give him two meals, since he will receive an evening meal from the »mnn,
nevertheless it is necessary to give him two meals as N901n continues.

¥ We do not give him the extra 770 because of 1902 nd but rather because we are concerned that he will miss (the
next) two meals.

? This 1"X assumes that we are not concerned that he will miss two meals (as the 9™ X1 assumed), and that »man is
distributed at night (as the m% PX) assumes), and nevertheless we are required to give him two meals (in the
morning). One because he may not reach a Jewish settlement for his next meal and another so that he should have ns
1702 (even though he will reach a Jewish settlement before his second upcoming meal).
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we give him a meal to go is because he may not reach a Jewish settlement.

mooIn reject these two approaches:
— 1N HNX DY DD PNYNT DN NP 591 )5 ONT

For if this is indeed so, how can the X713 say there (in naw noon) that we give
him one meal to go -

105595997 NXIY 795 ©INY )19 19 790 BITINGN 12 YN XY XY YINY U ON)
For if there is a concern that he will not reach a Jewish settlement, we should
give him two meals to go. Therefore n1o01n prefers as he explained previously,

that there is no "N at night, and no concern that he will not reach a Jewish settlement and the
extra meal is only because of 1902 ns.

SUMMARY

"N 1s not distributed at night. An "1¥ is given two meals; one for the upcoming
evening meal and one for 1702 na. There is no concern he will not reach a Jewish
settlement before the next meal.

THINKING IT OVER

MooIN in his initial question assumed that 11N is distributed at night (as well as by
day). Seemingly then each time a person (who travels 2)pn? 01pnn) comes to the
"N he receives two meals. The question should be why we give him two meals,
when he already has a meal (from the previous "1nn [where he was also given two
meals]; one meal should suffice! Why does nmooin find it necessary (for his
question) to cite the X713 in naw that 7772 770 7°% XM

' The rule (to which all agree) is that we give him two meals; [only] one of which is a meal to go. If there is a
concern that he will not reach a Jewish settlement (for at least one meal), so how can the X n3 (in n2w) state that he
is given only one meal to go, he should be given two meals to go (either [according to the "X1] for the two meals
that he may miss, or [according to the 1"X] for the one meal he will miss and for the 1702 n»).

' See nov on.
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